WNE Quiz - September 1, 2015

1. 2nd & 10 @ B-40. Team A trails by 4 points with 0:08 remaining in the 4th quarter. #A86 goes out of
bounds voluntarily, leaps from out of bounds, receives the pass while airborne, lands inbounds at the
B-20 with 0:01 remaining and runs for a touchdown. Time expires during the run by #A86.

2. 2nd & 10 @ B-40. Team A trails by 4 points with 0:08 remaining in the 4th quarter. #A84 goes out of
bounds voluntarily, returns inbounds and then is blocked out of bounds. #A84 immediately returns

inbounds, catches the pass with 0:01 remaining and runs for a touchdown. Time expires during the
run by #A84.

3. 2nd & 10 @ B-25. #A81 runs down the sideline and inadvertently kicks the goal line pylon. QB #A7
throws to #A81 in the end zone. While the catchable pass is airborne, #B44 shoves #A81 from the
front, intercepts the pass and is downed in Team A’s end zone.

4. 2nd & 10 @ A-40. #A87 steps on the sideline. #B44 receives the ball while airborne. #A87 leaps from
out of bounds and touches the ball in the firm grasp of airborne #B44. When #B44 returns to his feet,
he continues to have firm possession and runs for a touchdown.

5. F/K@ A-35. The kick by #A6 bounces high and short after being kicked directly into the ground.
#A88 leaps near the sideline at the A-47 and bats the ball backward to the A-42 where #A77 recovers.
Two Team B players were in the immediate area to catch the kick but neither player gave a fair catch
signal.

6. F/K @ A-35. The kick by #A6 bounces high and short after being kicked directly into the ground.
#A88 leaps near the sideline at the A-47 and bats the ball backward to the A-42, where #A77 muffs
the ball. #A88 landed out of bounds after his leap, but returns in bounds to recover the muffed ball at
the A-48.

7. 4th &10 @ B-40. The batted ball hits on the B-4 where #B44 recovers and runs to the B-10, where he
fumbles. The fumble is recovered by #A55, who then fumbles on the B-2. The ball hits the goal line
pylon. During the kick, #B58 commits a holding foul on the B-8.

8. 4th & 10 @ B-30. QB #A12 completes a pass to #A84, who fumbles at the B-22. The fumble is
recovered by #B77, who fumbles at the B-44. The ball rolls out of bounds at the B-48. The game clock
reads 1:58 remaining in the half. Clock status?



WNE Quiz - September 1, 2015 (ANSWERS)

1. A3/10 @ B-40. Game clock 0:01 on snap. The pass is incomplete when touched by #A86 as he is
out of bounds at the moment. The clock should be reset to the moment that this occurs. There is no
foul on the play. (2-27-15-a-2, 4-2-3, 7-3-7-a)

2. Game over; Team B wins. The pass is complete. Illegal touching by #A84 as he is ineligible by going
out of bounds voluntarily, and remains ineligible since no Team B player or official touches the pass
prior to #A84. Since the penalty includes a loss of down, the period is not extended for an untimed
down. (3-2-3-a-1, 7-3-4)

3. Touchback; B 1/10 @ B-20. Defensive pass interference can only occur when the contact is against
an eligible Team A receiver. Therefore, the play is legal. (7-3-8-c, AR 7-3-9-III)

4. A3/10 @ A-40. Incomplete pass. The ball becomes dead when touched by #A87, who is out of
bounds. The ball is considered loose until #B44 establishes player possession, which implies
maintaining control on the ground. (2-2-3-a-3)

5. A1/10 @ A-32. The batting by #A88 is legal. The foul is interference with opportunity to catch a kick.
The 15-yard penalty is enforced from the spot of the foul, A-47. (6-4-1)

6. AF/K @ A-30. The batting and recovery by A are both legal. However, #A88 fouled when he returned
inbounds after being out of bounds voluntarily during the down. The 5-yard penalty is enforced from
the previous spot. (6-1-11)

7. B1/10 @ B-4. PSK applies because Team B is the next to put the ball in play. (The result of the play
was a touchback.) The basic spot is the B-20, and the penalty is enforced from the spot of the foul.
Team A does not have the option to enforce the penalty from the previous spot. (10-2-4)

8. A1/10 @ B-15; Clock on Ready. The roughing the passer penalty is enforced from the previous spot
because of the change of possession occurring during the down. (AR 3-3-2-V)



